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Question 1. In a group of 15 people, 7 read German, 8 read Spanish, while 3 of them read none of these two. Find how many of them read German and Spanish
both? 
15 लोग䰯㉎ के एक समहू म े7 लोग जम䌀न पढ़त ेह ै,8 लोग 喢ꄰप⼹ेይनश पढ़त ेह ैऔर 3 लोग इनम ेस ेᵚ윀कसी को भी नहꃾꈄ पढ़ सकत े|讄숹ात कर ेक걣ꍖ इनम ेस ेᵚ윀कतन ेलोग जम䌀न और 喢ꄰप⼹ेይनश दोन䰯㉎ पढ़त ेह?ै
Options:
a) 1
b) 2
c) 3
d) 5
Correct Answer: 3
Candidate Answer: 3
 
Question 2. From the given set of elements: Cooler, Television, Electronic gadgets. Which figure given below will best represent the relationship among these three
elements? 
घटक䰯㉎ के ⼹ይन떉藀नाᵚ윀कत सटे म᳿ कूलर, टलेꃾꈄ䪜鍐वजन, इल℀ထሠᝠा⼹ይनक गजेटे ह︰Ĕ| इन तीन घटक䰯㉎ के म拾韾य स떉藀ब搁ꌁध को ᵚ윀कस आकृ⼹ይत ㄹ㤒वारा 蟱왠⨂ेᑀठ 肐တप म᳿ 웁⤏द얌ظश䌀त ᵚ윀कया जायगेा|

Options:
a) D
b) C
c) B
d) A
Correct Answer: A
Candidate Answer: D
 
Question 3. In the following sequence of letters, how many times is the letter 'p' immediately preceded by the letter 't'? 
अ㼳ⴠर䰯㉎ के ⼹ይन떉藀नाᵚ윀कत ᔄ″म म᳿ ᵚ윀कतनी बार 'p' अ㼳ⴠर के त稰⼶काल पहल े't' ह?ै 

s p r u a t p p g h j t k p s t p d g c l p t t t p p p t p t p t p t s m v b t p g c x d p t p k l s t p t
Options:
a) 6
b) 8
c) 7
d) 5
Correct Answer: 8
Candidate Answer: 8
 
Question 4. Find out the correct alternative figure which contains the given question figure.
䪜鍐वक㈀Ȁप आकृ⼹ይतय䰯㉎ म᳿ स ेउस आकृ⼹ይत क걣ꍖ पहचान क걣ꍖिजय ेिजसम᳿ 웁⤏शन आकृ⼹ይत ⼹ይनहꃾꈄत ह|ै 

reasoning
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Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 5. Select the odd words/numbers/letters/pairs from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स े䪜鍐वषम श㴼뮅द䰯㉎/स㐁 याओ/ंअ㼳ⴠर䰯㉎/य☦ु✦म䰯㉎ को च⼹ይनए|
Options:
a) P
b) B
c) E
d) D
Correct Answer: E
Candidate Answer: E
 
Question 6. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ एक 蟱왠खंला दꃾꈄ गई ह,ैिजसम᳿ एक या एक स ेअ䊯�धक स㐁 याए/ँवण䌀 लꄁ朁त ह︰Ĕ| ⼳दए गय े䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेसहꃾꈄ उ稰⼶तर च⼹ይनए| 

az225, cx423, ev621, __?____, ____?____.
Options:
a) jq1116, kp1215
b) go1314, mn126
c) gt819, ir1017
d) gu720, gt819
Correct Answer: gt819, ir1017
Candidate Answer: gt819, ir1017
 
Question 7. Find out the correct alternative figure which contains the given question figure.
䪜鍐वक㈀Ȁप आकृ⼹ይतय䰯㉎ म᳿ स ेउस आकृ⼹ይत क걣ꍖ पहचान क걣ꍖिजय ेिजसम᳿ 웁⤏शन आकृ⼹ይत ⼹ይनहꃾꈄत ह|ै



Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 8. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of matrix I are numbered 0 to 4 and that of Matric II
are numbered 5 to 9. A letter from these matrices can be represented first by its row and then by its column, example, C can be represented by 55, 69 etc. and D can
be represented by 59, 68 etc. Similarly, you have to identify the set for the word given in the question. 
एक श㴼뮅द केवल एक स㐁 या­समहू ㄹ㤒वारा दशा䌀या गया ह,ै जसैा ᵚ윀क 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेᵚ윀कसी एक म᳿ ⼳दया गया ह।ै 䪜鍐वक㈀Ȁप䰯㉎ म᳿ ⼳दए गए स㐁 या समहू अ㼳ⴠर䰯㉎ के दो वगﾸᘈ ㄹ㤒वारा दशा䌀ए गए ह︰Ĕ, जसैा ᵚ윀क नीचे
⼳दए दो आ쀈぀यहू䰯㉎ म᳿ ह।ै आ쀈぀यहू­I के 喢ꄰत떉藀भ और पिं℀ထत क걣ꍖ स㐁 या 0 स े4 म᳿ दꃾꈄ गयी ह ैऔर आ쀈぀यहू­II क걣ꍖ 5 स े9 म᳿ दꃾꈄ गयी ह।ै इन आ쀈぀यहू䰯㉎ म᳿ एक अ㼳ⴠर को पहल ेउसक걣ꍖ पिं℀ထत और बाद म᳿ 喢ꄰतभं
स㐁 या ㄹ㤒वारा दशा䌀या जा सकता ह।ै उदाहरण के 얌ظलए C को 55, 69 आ⼳द और D को 59, 68 आ⼳द ㄹ㤒वारा दशा䌀या जा सकता ह।ैइसी तरह स ेआपको 웁⤏簀ⴀन म᳿ ⼳दए गए श㴼뮅द के 얌ظलए समहू को पहचानना
ह।ै 

BLOW 

Options:
a) 14, 56, 89, 34
b) 00, 65, 67, 10
c) 41, 87, 57, 01



d) 32, 88, 98, 33
Correct Answer: 32, 88, 98, 33
Candidate Answer: 32, 88, 98, 33
 
Question 9. A goes 7 km eastward, then turns right and proceeds 7 km, then travels 15 km towards left, then travels 12 km towards left and finally goes 5 km
northward. Calculate his distance from his initial place in the horizontal direction. 
A पवू䌀 क걣ꍖ ओर 7 ᵚ윀कमी. चलता ह ैऔर दाय᳿ मडुकर 7 ᵚ윀कमी. चलता ह|ै वह ᵚ윀फर बाए ंओर 15 ᵚ윀कमी.चलता ह,ै और बाए ंओर 12 ᵚ윀कमी.चलता ह,ै और अतं म᳿ 5 ᵚ윀कमी. उ稰⼶तर क걣ꍖ ओर जाता ह|ै A क걣ꍖ
㼳ⴠ⼹ይतज ⼳दशा म᳿ उनके 웁⤏ार얌ंظभक 喢ꄰथल स ेदरूꃾꈄ 讄숹ात क걣ꍖिजय|े

Options:
a) 20 km 
20 ᵚ윀कमी.
b) 22 km 
22 ᵚ윀कमी.
c) 23 km 
23 ᵚ윀कमी.
d) 25 km 
25 ᵚ윀कमी.
Correct Answer: 22 km 
22 ᵚ윀कमी.
Candidate Answer: 22 km 
22 ᵚ윀कमी.
 
Question 10. In the following question, choose the correct mirror­image from amongst the four alternatives A), B), C) and D) given along with it. The mirror may be
represented by a line MN. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ ⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ A), B), C) और D)म᳿ स ेसहꃾꈄ दप䌀ण 웁⤏⼹ይत㽝⬫ब떉藀ब को च⼹ይनय|े दप䌀ण रखेा MN ㄹ㤒वारा 웁⤏द얌ظश䌀त ᵚ윀कया जा सकता ह|ै 

Options:
a) 

b) 

c) 

d) 

Correct Answer: 



Candidate Answer: 

 
Question 11. Select the missing number in the pattern from the given responses. 
⼳दए गए स㐁 या पटैन䌀 म᳿ लꄁ朁त स㐁 या 讄숹ात क걣ꍖिजए।

Options:
a) 298
b) 299
c) 499
d) 199
Correct Answer: 299
Candidate Answer: 299
 
Question 12. In a certain code 'A' is represented by 1, 'B' by 2, 'C' by 3 and so on; then all multiples of 2 are assigned a code of 2 and non­multiples of 2 are assigned
a code of 1. In this scheme of coding, the word 'WINDOW' would be coded as: 
ᵚ윀कसी ⼹ይनि簀ⴀचत कूट म᳿ 'A' को 1 स े웁⤏द얌ظश䌀त ᵚ윀कया जाता ह,ै 'B' को 2 स,े 'C' को 3 स,े इ稰⼶या⼳द और ᵚ윀फर 2 के सभी गणुक䰯㉎ को 2 स ेएव ंजो 2 के गणुक नहꃾꈄ ंह ैउनको 1 स ेकूटबأ⊢ कर ⼳दया जाता ह|ै
इस कूट म᳿ 'WINDOW' को कैस े얌ظलखा जायगेा :
Options:
a) 112112
b) 112211
c) 121121
d) 112221
Correct Answer: 112211
Candidate Answer: 112211
 
Question 13. Select the odd words/numbers/letters/pairs from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स े䪜鍐वषम श㴼뮅द䰯㉎/स㐁 याओ/ंअ㼳ⴠर䰯㉎/य☦ु✦म䰯㉎ को च⼹ይनए|
Options:
a) Consumer 
⸵湙ाहक
b) Purchaser 
खरꃾꈄददार
c) Retailer 
खदुरा 䪜鍐वᔄ″ता
d) Buyer 
ᔄ″ता
Correct Answer: Retailer 
खदुरा 䪜鍐वᔄ″ता
Candidate Answer: Retailer 
खदुरा 䪜鍐वᔄ″ता
 
Question 14. A triangular sheet of paper has been folded and punched as shown below. How will it appear when opened? 
कागज़ क걣ꍖ एक 㽝⬫᜘〞भजुाकार शीट को मोड़ा और दबाया जाता ह,ै जसैा क걣ꍖ नीच े䊯�च᜘〞 म᳿ दशा䌀या गया ह|ै इस ेखोलन ेपर यह कैसा ⼳दखगेा? 



Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 15. A man 'P' goes to a party hosted by his brother 'Q' who has a daughter M. M is dancing with her brother 'N'. How is 'P' related to 'N'? 
P, अपन ेभाई Q के ㄹ㤒वारा आयोिजत पाट㇭㿭 म᳿ जाता ह ैQ क걣ꍖ बटेꃾꈄ M ह ै| M अपन ेभाई N के साथ नाच रहꃾꈄ ह ै| P का N स े℀ထया सबंध ह|ै 

Options:
a) Nephew 
भतीजा
b) Father 
䪜鍐पता
c) Uncle 
चाचा
d) Cousin 
किजन
Correct Answer: Uncle 
चाचा
Candidate Answer: Uncle 
चाचा
 
Question 16. Select the related letters/words/numbers from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेस떉藀बि搁ꌁध稰⼶त अ㼳ⴠर䰯㉎/श㴼뮅द䰯㉎/स㐁 याओ ंको च⼹ይनए।

I: 9::? : 13
Options:
a) J



b) M
c) L
d) K
Correct Answer: M
Candidate Answer: M
 
Question 17. A man was 31 years of age when he had his first son. His wife was 26 years of age when his son attained the age of 7 years. The difference in age
between the man and his wife is: 
ᵚ윀कसी 쀈぀यि℀ထत क걣ꍖ आय ुअपन ेपहल ेप᜘ु〞 के ज搁ꌁम पर 31 वष䌀 थी। जब उसके प᜘ु〞 क걣ꍖ आय ु7 वष䌀 हईु तो प稰⼶नी 26 वष䌀 क걣ꍖ थी। प㜎ुऎष और उसक걣ꍖ प稰⼶नी क걣ꍖ आय ुका अतंर ह:ै
Options:
a) 7 years 
7 वष䌀
b) 9 years 
9 वष䌀
c) 5 years 
5 वष䌀
d) 11 years 
11 वष䌀
Correct Answer: 11 years 
11 वष䌀
Candidate Answer: 5 years 
5 वष䌀
 
Question 18. Select the odd words/numbers/letters/pairs from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स े䪜鍐वषम श㴼뮅द䰯㉎/स㐁 याओ/ंअ㼳ⴠर䰯㉎/य☦ु✦म䰯㉎ को च⼹ይनए|
Options:
a) 195
b) 221
c) 247
d) 323
Correct Answer: 323
Candidate Answer: 195
 
Question 19. Select the related letters/words/numbers from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेस떉藀बि搁ꌁध稰⼶त अ㼳ⴠर䰯㉎/श㴼뮅द䰯㉎/स㐁 याओ ंको च⼹ይनए।

200: 25 :: 300 : ?
Options:
a) 30
b) 37.50
c) 32.50
d) 30.25
Correct Answer: 32.50
Candidate Answer: 37.50
 
Question 20. Answer the question on the basis of the below given figures that denote a set of classes. Pick out the figure that best denotes a particular group. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन के नीच ेदꃾꈄ गई आकृ⼹ይतय䰯㉎ म᳿ 웁⤏द얌ظश䌀त वग䌀 समᘖ᜖चय䰯㉎ के आधार पर उ稰⼶तर दꃾꈄिजय े| उस आकृ⼹ይत को च⼹ይनए जो ⼳दय ेगए समहू䰯㉎ के 얌ظलए सहꃾꈄ ह.ै



Adults, Doctors, Paediatrician 
वय喢ꄰक, 䊯�चᵚ윀क稰⼶सक, बाल रोग 䪜鍐वशषे讄숹
Options:
a) A
b) B
c) C
d) D
Correct Answer: C
Candidate Answer: D
 
Question 21. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of matrix I are numbered 0 to 4 and that of Matric II
are numbered 5 to 9. A letter from these matrices can be represented first by its row and then by its column, example, C can be represented by 55, 69 etc. and D can
be represented by 59, 68 etc. Similarly, you have to identify the set for the word given in the question. 
एक श㴼뮅द केवल एक स㐁 या­समहू ㄹ㤒वारा दशा䌀या गया ह,ै जसैा ᵚ윀क 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेᵚ윀कसी एक म᳿ ⼳दया गया ह।ै 䪜鍐वक㈀Ȁप䰯㉎ म᳿ ⼳दए गए स㐁 या समहू अ㼳ⴠर䰯㉎ के दो वगﾸᘈ ㄹ㤒वारा दशा䌀ए गए ह︰Ĕ, जसैा ᵚ윀क नीचे
⼳दए दो आ쀈぀यहू䰯㉎ म᳿ ह।ै आ쀈぀यहू­I के 喢ꄰत떉藀भ और पिं℀ထत क걣ꍖ स㐁 या 0 स े4 म᳿ दꃾꈄ गयी ह ैऔर आ쀈぀यहू­II क걣ꍖ 5 स े9 म᳿ दꃾꈄ गयी ह।ै इन आ쀈぀यहू䰯㉎ म᳿ एक अ㼳ⴠर को पहल ेउसक걣ꍖ पिं℀ထत और बाद म᳿ 喢ꄰतभं
स㐁 या ㄹ㤒वारा दशा䌀या जा सकता ह।ै उदाहरण के 얌ظलए C को 55, 69 आ⼳द और D को 59, 68 आ⼳द ㄹ㤒वारा दशा䌀या जा सकता ह।ैइसी तरह स ेआपको 웁⤏簀ⴀन म᳿ ⼳दए गए श㴼뮅द के 얌ظलए समहू को पहचानना
ह।ै 

PEST 

Options:
a) 87, 56, 03, 04
b) 55, 79, 23, 22
c) 69, 98, 41, 40
d) 96, 65, 32, 00
Correct Answer: 55, 79, 23, 22
Candidate Answer: 55, 79, 23, 22
 
Question 22. The letters of the word "APRSWRO" are not in order, if arranged properly they form a bird's name. What is the last letter of the word? 
"APRSWRO" श㴼뮅द के अ㼳ⴠर ᔄ″म म᳿ नहꃾꈄ ंह︰Ĕ, य⼳द इ搁ꌁह᳿ सहꃾꈄ ढगं स े쀈぀यवि喢ꄰथत ᵚ윀कया जाय,े तो यह प㼳ⴠी का नाम ह,ै श㴼뮅द का अ⼹ይतम अ㼳ⴠर ℀ထया ह?ै
Options:
a) O
b) W
c) P
d) R
Correct Answer: W
Candidate Answer: W
 
Question 23. Some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements. 
दो कथन ⼳दए गए ह︰Ĕ और उनके बाद दो ⼹ይन⨂ᑀकष䌀 ⼳दए गए ह︰Ĕ| आपको कथन䰯㉎ को सहꃾꈄ मानना ह︰Ĕ, ᵚ윀फर चाह ेवह सव䌀䪜鍐व⼳दत त⵼䉁य䰯㉎ स े얌ظभ搁ꌁन हो| आपको ⼹ይनण䌀य लनेा ह ैक걣ꍖ ⼳दए गए ⼹ይन⨂ᑀकषﾸᘈ म᳿ स ेकौन
सा/स ेकथन䰯㉎ का अनसुरण करता ह|ै 

Statements: 
कथन: 

Some shops are rooms. 
कुछ दकुान᳿ कमर᳿ ह︰Ĕ| 
All rooms are kitchens. 
सभी कमर ेरसोई ह︰Ĕ| 

Conclusions: 
⼹ይन⨂ᑀकष䌀:

I. All shops are kitchens. 
सभी दकुान᳿ रसोइया ँह︰Ĕ | 



II. Some shops are kitchens. 
कुछ दकुान᳿ रसोइया ँह︰Ĕ| 
III. Some rooms are shops. 
कुछ कमर ेदकुान᳿ ह︰Ĕ | 
IV. All kitchens are shops . 
सभी रसोइया ँदकुान᳿ ह︰Ĕ | 
Options:
a) Only I & IV follow 
केवल I और IV अनसुरण करत ेह︰Ĕ
b) Only II follows 
केवल II अनसुरण करत ेहै
c) Only II & III follow 
केवल II और III अनसुरण करत ेह︰Ĕ
d) Only I follows 
केवल I अनसुरण करत ेह︰Ĕ

Correct Answer: Only II & III follow 
केवल II और III अनसुरण करत ेह︰Ĕ
Candidate Answer: Only II & III follow 
केवल II और III अनसुरण करत ेह︰Ĕ
 
Question 24. Select the odd words/numbers/letters/pairs from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स े䪜鍐वषम श㴼뮅द䰯㉎/स㐁 याओ/ंअ㼳ⴠर䰯㉎/य☦ु✦म䰯㉎ को च⼹ይनए|
Options:
a) Espreso 
ए℀ထस웁⤏सेो
b) Tea 
चाय
c) Cappuccino
कैप䊯े�चनो
d) Latte 
लाते
Correct Answer: Tea 
चाय
Candidate Answer: Tea 
चाय
 
Question 25. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ एक 蟱왠खंला दꃾꈄ गई ह,ैिजसम᳿ एक या एक स ेअ䊯�धक स㐁 याए/ँवण䌀 लꄁ朁त ह︰Ĕ| ⼳दए गय े䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेसहꃾꈄ उ稰⼶तर च⼹ይनए| 

1, 2, 2, 4, 8, 32, ?
Options:
a) 128
b) 198
c) 256
d) 312
Correct Answer: 256
Candidate Answer: 128
 
Question 26. Some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements. 
दो कथन ⼳दए गए ह︰Ĕ और उनके बाद दो ⼹ይन⨂ᑀकष䌀 ⼳दए गए ह︰Ĕ| आपको कथन䰯㉎ को सहꃾꈄ मानना ह︰Ĕ, ᵚ윀फर चाह ेवह सव䌀䪜鍐व⼳दत त⵼䉁य䰯㉎ स े얌ظभ搁ꌁन हो| आपको ⼹ይनण䌀य लनेा ह ैक걣ꍖ ⼳दए गए ⼹ይन⨂ᑀकषﾸᘈ म᳿ स ेकौन
सा/स ेकथन䰯㉎ का अनसुरण करता ह|ै 

Statements: 
कथन: 

Some leaves are apples. 
कुछ प稰⼶त ेसबे ह︰Ĕ| 
No apple is an egg. 
कोई सबे अडंा नहꃾꈄ ह|ै 

Conclusions: 
⼹ይन⨂ᑀकष䌀: 

I. All apples are leaves.
सभी सबे प稰⼶त ेह︰Ĕ|
II. Some eggs are leaves. 



कुछ अडं ेप稰⼶त ेह︰Ĕ|
III. Some leaves are not eggs.
कुछ प稰⼶त ेअडं ेनहꃾꈄ ंह︰Ĕ|
IV. All eggs are leaves. 
सभी अडं ेप稰⼶त ेह︰Ĕ|
Options:
a) Only III follows 
केवल III अनसुरण करत ेहै
b) None follows 
कोई अनसुरण नहꃾꈄ ंकरते
c) Either II or III follow 
या II या III अनसुरण करत ेहै
d) All follow 
सभी अनसुरण करत ेह︰Ĕ

Correct Answer: Either II or III follow 
या II या III अनसुरण करत ेहै
Candidate Answer: Either II or III follow 
या II या III अनसुरण करत ेहै
 
Question 27. Answer the question on the basis of the below given figures that denote a set of classes. Pick out the figure that best denotes a particular group. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन के नीच ेदꃾꈄ गई आकृ⼹ይतय䰯㉎ म᳿ 웁⤏द얌ظश䌀त वग䌀 समᘖ᜖चय䰯㉎ के आधार पर उ稰⼶तर दꃾꈄिजय े| उस आकृ⼹ይत को च⼹ይनए जो ⼳दय ेगए समहू䰯㉎ के 얌ظलए सहꃾꈄ ह.ै

Train, Chair, School 
रले , कुस㼀, 喢ꄰकूल
Options:
a) A
b) B
c) C
d) D
Correct Answer: A
Candidate Answer: A
 
Question 28. Select the odd words/numbers/letters/pairs from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स े䪜鍐वषम श㴼뮅द䰯㉎/स㐁 याओ/ंअ㼳ⴠर䰯㉎/य☦ु✦म䰯㉎ को च⼹ይनए|
Options:
a) NPLRJ
b) TVRXQ
c) FHDJB
d) WYUAS
Correct Answer: TVRXQ
Candidate Answer: WYUAS
 
Question 29. A square sheet of paper has been folded and punched as shown below. How will it appear when opened? 
कागज़ क걣ꍖ वगा䌀कार शीट को मोड़ा और दबाया जाता ह,ैजसैा क걣ꍖ नीच े䊯�च᜘〞 म᳿ दशा䌀या गया ह|ै इस ेखोलन ेपर यह कैसा ⼳दखगेा? 



Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 30. Select the related letters/words/numbers from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेस떉藀बि搁ꌁध稰⼶त अ㼳ⴠर䰯㉎/श㴼뮅द䰯㉎/स㐁 याओ ंको च⼹ይनए।

Alluring: Beautiful :: Playful : ? 
आकष䌀क : स搁ꌁदर ::चचंल :?
Options:
a) Whimsical 
चलुबलुा
b) Tragic 
᜘〞ासदꃾꈄ
c) Vicious 
शा⼹ይतर
d) Uncanny 
䪜鍐वल㼳ⴠण
Correct Answer: Whimsical 
चलुबलुा
Candidate Answer: Whimsical 
चलुबलुा
 
Question 31. Select the odd words/numbers/letters/pairs from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स े䪜鍐वषम श㴼뮅द䰯㉎/स㐁 याओ/ंअ㼳ⴠर䰯㉎/य☦ु✦म䰯㉎ को च⼹ይनए|
Options:
a) 1024 ­ 2048
b) 16 ­ 512



c) 192 ­ 256
d) 32 ­ 128
Correct Answer: 192 ­ 256
Candidate Answer: 192 ­ 256
 

Question 32. In the following question, which answer figure will complete the pattern in the question figure? 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ कौन सी उ稰⼶तर आकृ⼹ይत 웁⤏簀ⴀन आकृ⼹ይत के पटैन䌀 को परूा करगेी?

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 33. Select the related letters/words/numbers from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेस떉藀बि搁ꌁध稰⼶त अ㼳ⴠर䰯㉎/श㴼뮅द䰯㉎/स㐁 याओ ंको च⼹ይनए।

Farmer : Field : : Engineer : ? 
ᵚ윀कसान : खते : : अ얌ظभयतंा :?
Options:
a) College 
कालजे
b) Cite 
अवतरण



c) Cabin 
कै㽝⬫बन
d) Site 
⼹ይनमा䌀ण 喢ꄰथल
Correct Answer: Site 
⼹ይनमा䌀ण 喢ꄰथल
Candidate Answer: Site 
⼹ይनमा䌀ण 喢ꄰथल
 
Question 34. If 'ARATHY' is coded as 'BSBUIZ' then 'SYSTEM' should be: 
य⼳द 'ARATHY' को 'BSBUIZ' म᳿ कूटबأ⊢ ᵚ윀कया जाता ह ैतो 'SYSTEM' होना चा⼳हए:
Options:
a) TZTUFN
b) TZTFNU
c) TZFNUT
d) TFUZTN
Correct Answer: TZTUFN
Candidate Answer: TZTUFN
 
Question 35. Select the related letters/words/numbers from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेस떉藀बि搁ꌁध稰⼶त अ㼳ⴠर䰯㉎/श㴼뮅द䰯㉎/स㐁 याओ ंको च⼹ይनए।

ACFJ: QUXZ:: DFIM : ?
Options:
a) MRUW
b) NRUW
c) WURN
d) BURN
Correct Answer: NRUW
Candidate Answer: NRUW
 
Question 36. Find which word cannot be made from the letters used in the word: INCREASINGLY 
INCREASINGLY म᳿ 웁⤏य℀ुထत अ㼳ⴠर䰯㉎ स े⼹ይन떉藀न म ेस ेकौन सा श㴼뮅द नहꃾꈄ ंबनाया जा सकता ह|ै
Options:
a) SINGLE
b) ARISE
c) UGLY
d) CRANE
Correct Answer: UGLY
Candidate Answer: UGLY
 
Question 37. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ एक 蟱왠खंला दꃾꈄ गई ह,ैिजसम᳿ एक या एक स ेअ䊯�धक स㐁 याए/ँवण䌀 लꄁ朁त ह︰Ĕ| ⼳दए गय े䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेसहꃾꈄ उ稰⼶तर च⼹ይनए| 

1, 9, 25, 49, ?
Options:
a) 83
b) 91
c) 121
d) 73
Correct Answer: 121
Candidate Answer: 121
 
Question 38. Find who is the shortest if: 
讄숹ात क걣ꍖिजय ेसबस ेछोटा कौन ह ै,य⼳द : 

I. Sunitha is taller than Anitha 
सनुीता, अनीता स ेल떉藀बी ह ै| 
II. Reena is taller than Chitra but shorter than Banu 
रꃾꈄना, 䊯�च᜘〞ा स ेल떉藀बी ह ैलᵚ윀कन भान ुस ेछोटꃾꈄ ह|ै 
III. Anitha is shorter than Chitra 
अनीता,䊯�च᜘〞ा स ेछोटꃾꈄ ह ै| 
IV. Chitra is taller than Sunitha 
䊯�च᜘〞ा, सनुीता स ेल떉藀बी ह ै|

Options:
a) Sunitha 
सनुीता
b) Anitha 



अनीता
c) Reena 
रꃾꈄना
d) Banu 
भानु
Correct Answer: Anitha 
अनीता
Candidate Answer: Anitha 
अनीता
 
Question 39. Select the missing number in the pattern from the given responses. 
⼳दए गए स㐁 या पटैन䌀 म᳿ लꄁ朁त स㐁 या 讄숹ात क걣ꍖिजए।

Options:
a) 22
b) 28
c) 20
d) 88
Correct Answer: 20
Candidate Answer: 22
 
Question 40. In the following question, choose the correct mirror­image from amongst the four alternatives A), B), C) and D) given along with it. The mirror may be
represented by a line MN. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ ⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ A), B), C) और D)म᳿ स ेसहꃾꈄ दप䌀ण 웁⤏⼹ይत㽝⬫ब떉藀ब को च⼹ይनय|े दप䌀ण रखेा MN ㄹ㤒वारा 웁⤏द얌ظश䌀त ᵚ윀कया जा सकता ह|ै 

Options:
a) 

b) 

c) 

d) 



Correct Answer: 

Candidate Answer: 

 
Question 41. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ एक 蟱왠खंला दꃾꈄ गई ह,ैिजसम᳿ एक या एक स ेअ䊯�धक स㐁 याए/ँवण䌀 लꄁ朁त ह︰Ĕ| ⼳दए गय े䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेसहꃾꈄ उ稰⼶तर च⼹ይनए| 

L, C, M, B, N, A, O, ?
Options:
a) B
b) P
c) Q
d) Z
Correct Answer: Z
Candidate Answer: Z
 
Question 42. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options. 
⼹ይन떉藀नाᵚ윀कत 웁⤏簀ⴀन म᳿ एक 蟱왠खंला दꃾꈄ गई ह,ैिजसम᳿ एक या एक स ेअ䊯�धक स㐁 याए/ँवण䌀 लꄁ朁त ह︰Ĕ| ⼳दए गय े䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेसहꃾꈄ उ稰⼶तर च⼹ይनए| 

A, Z, B, Y, C, ?
Options:
a) U
b) V
c) W
d) X
Correct Answer: X
Candidate Answer: X
 
Question 43. M starts from his office and goes 15 km southwards, he then proceeds 5 km to the right. He then travels 7 km to the left, again travels 7 km to the left
and eventually goes 22 km towards left. Measure the distance between the final and starting point. 
M अपन ेकाय䌀喢ꄰथल स े웁⤏ारभं कर 15 ᵚ윀कमी. द쟍ç㼳ⴠण म᳿ जाता ह ै,ᵚ윀फर 5 ᵚ윀कमी. दायी ंऔर जाता ह|ै वह ᵚ윀फर 7 ᵚ윀कमी. बाए ंजाता ह ैऔर पनु: 7 ᵚ윀कमी. बायी ंओर जाता ह ैऔर अतं म᳿ 22 ᵚ윀कमी. बायीं
ओर जाता ह|ै 웁⤏ार얌ंظभक और अ⼹ይतम 㽝⬫ब搁ꌁद ुके म拾韾य दरूꃾꈄ 讄숹ात कर᳿ |
Options:
a) 3 km 
3 ᵚ윀कमी.
b) 2 km 
2 ᵚ윀कमी.
c) 1 km 
1 ᵚ윀कमी.
d) 4 km 
4 ᵚ윀कमी.
Correct Answer: 2 km 
2 ᵚ윀कमी.
Candidate Answer: 2 km 
2 ᵚ윀कमी.
 
Question 44. Select the related letters/words/numbers from the given alternatives. 
⼳दए गए 䪜鍐वक㈀Ȁप䰯㉎ म᳿ स ेस떉藀बि搁ꌁध稰⼶त अ㼳ⴠर䰯㉎/श㴼뮅द䰯㉎/स㐁 याओ ंको च⼹ይनए।

24: 15 : : 63 : ?
Options:



a) 56
b) 38
c) 58
d) 48
Correct Answer: 48
Candidate Answer: 56
 
Question 45. Which of the following are alternative names for the river "Brahmaputra"? 
⼹ይन떉藀न म᳿ स ेकौन स े"蘀嚡閠मप᜘ु〞" नदꃾꈄ के वकैि㈀Ȁपक नाम ह︰Ĕ?
Options:
a) Yamuna, Yarlung Zangbo and Tsangpo 
यमनुा, यारलुंग ज़搁ꌁ☦✦बो और 稰⼶स☦✦पो
b) Yamuna, Megnaand Tsangpo Yamuna
यमनुा, मगेना और 稰⼶स☦✦पो यमनुा
c) Jamuna, Siang, YarlungZangbo and Tsangpo 
जमनुा, 얌ظसयागं, यारलुंग जा☦✦बो और 稰⼶स☦✦पो
d) Jamuna, Siang, YarlungZangbo, Megna and Tsangpo 
जमनुा, 얌ظसयागं, यारलुंग जा☦✦बो, मगेना और 稰⼶स☦✦पो
Correct Answer: Jamuna, Siang, YarlungZangbo, Megna and Tsangpo 
जमनुा, 얌ظसयागं, यारलुंग जा☦✦बो, मगेना और 稰⼶स☦✦पो
Candidate Answer: Jamuna, Siang, YarlungZangbo, Megna and Tsangpo 
जमनुा, 얌ظसयागं, यारलुंग जा☦✦बो, मगेना और 稰⼶स☦✦पो
 
Question 46. Which of the following is an alternative theory to the Big Bang theory developed in 1948, stating that the universe does not change even though it is
expanding over time? 
1948 म᳿ 䪜鍐वक얌ظसत 㽝⬫बग ब︰Ĕग 얌ظसأ⊢ातं के 얌ظलए ⼹ይन떉藀न म᳿ स ेकौन सा एक वकैि㈀Ȁपक 얌ظसأ⊢ातं ह,ै जो य ेबताता ह ैᵚ윀क 蘀嚡閠माडं प⼳�रव⼹ይत䌀ती नहꃾꈄ ंहोता ह ैभल ेहꃾꈄ इसम᳿ समय के साथ 䪜鍐व喢ꄰतार होता ह?ै
Options:
a) Oscillating Universe 
ऑसील⼳टगं य⼹ूይनवस䌀
b) Steady State Universe 
喢ꄰटडेी 喢ꄰटटे य⼹ूይनवस䌀
c) Mirror Universe 
얌ظमरर य⼹ूይनवस䌀
d) Eternal Inflation 
इटरनल इ搁ꌁ飾懾लशेन
Correct Answer: Steady State Universe 
喢ꄰटडेी 喢ꄰटटे य⼹ूይनवस䌀
Candidate Answer: Eternal Inflation 
इटरनल इ搁ꌁ飾懾लशेन
 
Question 47. Who among the following was the first politician to become a chief minister of a state and prime minister of India? 
⼹ይन떉藀न म᳿ स ेकौन सा राजनतेा पहल ेरा㘶य का म㐁 यम᜘〞ी और ᵚ윀फर भारत का 웁⤏धानम᜘〞ी बना?
Options:
a) Mr Morarji Desai 
얌ظम喢ꄰटर मोरारजी दसेाई
b) Mr Narendra Modi 
얌ظम喢ꄰटर नर搁ेꌁ␮⶚ मोदꃾꈄ
c) Mr H D Deve Gowda 
얌ظम喢ꄰटर एच डी दवेा गोवाडा
d) Mr Charan Singh 
얌ظम喢ꄰटर चरण 얌ظसहं
Correct Answer: Mr Morarji Desai 
얌ظम喢ꄰटर मोरारजी दसेाई
Candidate Answer: Mr H D Deve Gowda 
얌ظम喢ꄰटर एच डी दवेा गोवाडा

 
Question 48. Which of the following best indicates economic growth of a nation? 
⼹ይन떉藀न म᳿ स ेकौन सा एक रा⨂ᑀሠᝠ के आ䊯�थ䌀क 䪜鍐वकास को सबस ेअᘖ᜖छ䐒་ तरह स ेदशा䌀ता ह?ै
Options:
a) Agriculture income 
कृ䪜鍐ष आय
b) Per capita income 
웁⤏⼹ይत पूंजी आय
c) Gross industrial production 



सकल औㄹ㤒यो䊯�गक उ稰⼶पादन
d) Inflation 
म␮⶚ा喢ꄰफ걣ꍖ⼹ይत क걣ꍖ दर
Correct Answer: Per capita income 
웁⤏⼹ይत पूंजी आय
Candidate Answer: Per capita income 
웁⤏⼹ይत पूंजी आय
 
Question 49. What is the structure of Panchayati Raj? 
पचंायती राज क걣ꍖ सरंचना ℀ထया ह?ै
Options:
a) Zilla Panchayat → Block Panchayat → Gram Panchayat → Gram Sabha 
िजला पचंायत → 㴼뮅लॉक पचंायत → ⸵湙ाम पचंायत → ⸵湙ाम सभा
b) Khap Panchayat → Zilla Panchayat → Block Panchayat → Gram Panchayat → Gram Sabha 
खाप पचंायत → िजला पचंायत → 㴼뮅लॉक पचंायत → ⸵湙ाम पचंायत → ⸵湙ाम सभा
c) Khap Panchayat → Zilla Panchayat → Block Panchayat → Gram Panchayat 
खाप पचंायत → िजला पचंायत → 㴼뮅लॉक पचंायत → ⸵湙ाम पचंायत
d) Nagar Panchayat → Zilla Panchayat → Block Panchayat → Gram Panchayat → Gram Sabha 
नगर पचंायत → िजला पचंायत → 㴼뮅लॉक पचंायत → ⸵湙ाम पचंायत → ⸵湙ाम सभा
Correct Answer: Zilla Panchayat → Block Panchayat → Gram Panchayat → Gram Sabha 
िजला पचंायत → 㴼뮅लॉक पचंायत → ⸵湙ाम पचंायत → ⸵湙ाम सभा
Candidate Answer: Nagar Panchayat → Zilla Panchayat → Block Panchayat → Gram Panchayat → Gram Sabha 
नगर पचंायत → िजला पचंायत → 㴼뮅लॉक पचंायत → ⸵湙ाम पचंायत → ⸵湙ाम सभा
 
Question 50. In which of the following states can you find pink (laterite) soil? 
⼹ይन떉藀न म᳿ स ेᵚ윀कन रा㘶य䰯㉎ म᳿ आपको गलुाबी (लटेराइट) 얌ظम蜁ضرी 얌ظमल सकती ह?ै
Options:
a) West Bengal & Andhra Pradesh 
पि簀ⴀचम बगंाल और आ䝝ं؊ 웁⤏दशे
b) Gujrat & Madhya Pradesh 
गजुरात और म拾韾य 웁⤏दशे
c) Karnataka 
कना䌀टक
d) Himachal Pradesh & Uttaranchal 
⼳हमाचल 웁⤏दशे और उ稰⼶तराचंल
Correct Answer: West Bengal & Andhra Pradesh 
पि簀ⴀचम बगंाल और आ䝝ं؊ 웁⤏दशे
Candidate Answer: Gujrat & Madhya Pradesh 
गजुरात और म拾韾य 웁⤏दशे
 
Question 51. Which of the following states are together called as seven sister states? 
⼹ይन떉藀न म᳿ स ेकौन स ेरा㘶य आपस म᳿ 얌ظमलकर सात­बहन䰯㉎ या सवेन 喢ꄰटटे के नाम स ेजान ेजात ेह︰Ĕ?
Options:
a) Tripura, Meghalaya, Assam, Arunachal Pradesh, Nagaland, Manipur, Mizoram 
㽝⬫᜘〞परुा, मघेालय, असम, अ㜎ऎणाचल 웁⤏दशे, नागाल︰Ĕड, मᮿणपरु, 얌ظमजोरम
b) Sikkim, West Bengal, Assam, Arunachal Pradesh, Nagaland, Manipur, Mizoram 
얌ظसि℀ထकम, पि簀ⴀचम बगंाल, असम, अ㜎ऎणाचल 웁⤏दशे, नागाल︰Ĕड, मᮿणपरु, 얌ظमजोरम
c) l, Meghalaya, Assam, Arunachal Pradesh, Nagaland, Tripura 
얌ظसि℀ထकम, पि簀ⴀचम बगंाल, मघेालय, असम, अ㜎ऎणाचल 웁⤏दशे, नागाल︰Ĕड, 㽝⬫᜘〞परुा
d) Tripura, Meghalaya, Assam, Orissa, Sikkim, Manipur, Mizoram 
㽝⬫᜘〞परुा, मघेालय, असम, उड़ीसा, 얌ظसि℀ထकम, मᮿणपरु, 얌ظमजोरम
Correct Answer: Tripura, Meghalaya, Assam, Arunachal Pradesh, Nagaland, Manipur, Mizoram 
㽝⬫᜘〞परुा, मघेालय, असम, अ㜎ऎणाचल 웁⤏दशे, नागाल︰Ĕड, मᮿणपरु, 얌ظमजोरम
Candidate Answer: Tripura, Meghalaya, Assam, Orissa, Sikkim, Manipur, Mizoram 
㽝⬫᜘〞परुा, मघेालय, असम, उड़ीसा, 얌ظसि℀ထकम, मᮿणपरु, 얌ظमजोरम

 
Question 52. Who among the following was the first 'Minister of Finance' in independent India? 
喢ꄰवत搁ꌁ᜘〞 भारत का पहला "䪜鍐व稰⼶त म᜘〞ी" कौन था?
Options:
a) R. K. Shanmukham Chetty 
आर. के. शनमखुम च蜁ضرी
b) Liaquat Ali Khan 
얌ظलयाक़त अलꃾꈄ खान



c) John Mathai 
जॉन मथाई
d) Satya Narayan Sinha 
स稰⼶य नारायण 얌ظस搁ꌁहा
Correct Answer: R. K. Shanmukham Chetty 
आर. के. शनमखुम च蜁ضرी
Candidate Answer: Liaquat Ali Khan 
얌ظलयाक़त अलꃾꈄ खान
 
Question 53. Tropic of Cancer passes through which of the following Indian states?
कक䌀 रखेा ⼹ይन떉藀न म᳿ स ेकौन स ेभारतीय रा㘶य䰯㉎ स ेहोकर गजुरती ह?ै
Options:
a) Bihar, West Bengal, Meghalaya, Tripura and Mizoram 
㽝⬫बहार, पि簀ⴀचम बगंाल, मघेालय, 㽝⬫᜘〞परुा और 얌ظमजोरम
b) Madhya Pradesh, Maharashtra, Rajasthan, West Bengal, Tripura and Mizoram 
म拾韾य 웁⤏दशे, महारा⨂ᑀሠᝠ, राज喢ꄰथान, पि簀ⴀचम बगंाल, 㽝⬫᜘〞परुा और 얌ظमजोरम
c) Gujarat, Madhya Pradesh, Chhattisgarh, Jharkhand, West Bengal, Tripura and Mizoram 
गजुरात, म拾韾य 웁⤏दशे, छ稰⼶तीसगढ़, झारख㤮㑰ड, पि簀ⴀचम बगंाल, 㽝⬫᜘〞परुा और 얌ظमजोरम
d) Madhya Pradesh, Maharashtra, Bihar, Chhattisgarh, Jharkhand and West Bengal 
म拾韾य 웁⤏दशे, महारा⨂ᑀሠᝠ, 㽝⬫बहार, छ稰⼶तीसगढ़, झारख㤮㑰ड और पि簀ⴀचम बगंाल
Correct Answer: Gujarat, Madhya Pradesh, Chhattisgarh, Jharkhand, West Bengal, Tripura and Mizoram 
गजुरात, म拾韾य 웁⤏दशे, छ稰⼶तीसगढ़, झारख㤮㑰ड, पि簀ⴀचम बगंाल, 㽝⬫᜘〞परुा और 얌ظमजोरम
Candidate Answer: Gujarat, Madhya Pradesh, Chhattisgarh, Jharkhand, West Bengal, Tripura and Mizoram 
गजुरात, म拾韾य 웁⤏दशे, छ稰⼶तीसगढ़, झारख㤮㑰ड, पि簀ⴀचम बगंाल, 㽝⬫᜘〞परुा और 얌ظमजोरम
 
Question 54. Which of the following is used for very high speed searching applications? 
⼹ይन떉藀न म᳿ स ेᵚ윀कसका 웁⤏योग बहतु अ䊯�धक ग⼹ይत वाल ेस䊯�च︱Ƞग एꄁ朁लꃾꈄकेशन के 얌ظलए ᵚ윀कया जाता ह?ै
Options:
a) Flash Memory 
2लशै ममेोरꃾꈄ
b) Content­addressable Memory 
कंट᳿ट­ए킞ꉐसेएबल ममेोरꃾꈄ
c) Dynamic Random Access Memory 
डायना얌ظमक र︰Ĕडम ए℀ထससे ममेोरꃾꈄ
d) Static Random Access Memory 
喢ꄰट⼳ेटक र︰Ĕडम ए℀ထससे ममेोरꃾꈄ
Correct Answer: Content­addressable Memory 
कंट᳿ट­ए킞ꉐसेएबल ममेोरꃾꈄ
Candidate Answer: Dynamic Random Access Memory 
डायना얌ظमक र︰Ĕडम ए℀ထससे ममेोरꃾꈄ
 
Question 55. The largest wildlife sanctuary in India is famous for which of the following animal? 
भारत म᳿ सबस ेबड़ा व搁ꌁयजीव अ㨿ㄵयार㤮㑰य ⼹ይन떉藀न म᳿ स ेᵚ윀कस जानवर के 얌ظलए 웁⤏얌ظसأ⊢ ह?ै
Options:
a) Wild India Ass 
भारतीय जगंलꃾꈄ गधा
b) Rhinoceros 
ग︰Ĕडा
c) Apes 
क䪜鍐प (वानर)
d) Tigers 
बाघ
Correct Answer: Wild India Ass 
भारतीय जगंलꃾꈄ गधा
Candidate Answer: Rhinoceros 
ग︰Ĕडा

 
Question 56. Which of the following is another name for the fish farming revolution? 
मछलꃾꈄ पालन ᔄ″ा⼹ይत का दसूरा नाम ℀ထया ह?ै
Options:
a) Blue revolution 
नीलꃾꈄ ᔄ″ाि搁ꌁत
b) White revolution 
सफ़ेद ᔄ″ाि搁ꌁत



c) Yellow revolution 
पीलꃾꈄ ᔄ″ाि搁ꌁत
d) Brown revolution 
भरूꃾꈄ ᔄ″ाि搁ꌁत
Correct Answer: Blue revolution 
नीलꃾꈄ ᔄ″ाि搁ꌁत
Candidate Answer: Blue revolution 
नीलꃾꈄ ᔄ″ाि搁ꌁत
 
Question 57. Which among the following articles came into force on 26th November 1949, the day the Indian constitution was adapted?
⼹ይन떉藀न म᳿ स ेकौन­सा अनᘖु᜖छदे,26नव떉藀बर 1949 को अि喢ꄰत稰⼶व म᳿ लाया गया था िजस ⼳दन भारतीय स䪜鍐वधान को 喢ꄰवीकार ᵚ윀कया गया था?
Options:
a) Article 388
अनᘖु᜖छदे388
b) Article 390 
अनᘖु᜖छदे390
c) Article 387 
अनᘖु᜖छदे387
d) Article 386 
अनᘖु᜖छदे 386
Correct Answer: Article 388
अनᘖु᜖छदे388
Candidate Answer: Article 388
अनᘖु᜖छदे388
 
Question 58. Which of the following is the unit of perceived loudness of sound? 
⼹ይन떉藀न म᳿ स ेकौन सा 拾韾वनी क걣ꍖ क䊯�थत 웁⤏बलता क걣ꍖ ईकाई ह?ै
Options:
a) Decibel
ड얌ظसबले
b) Sone
सोन
c) Hertz
हट䌀ज
d) Phon
फोन
Correct Answer: Sone
सोन
Candidate Answer: Decibel
ड얌ظसबले
 
Question 59. What is a common name for the substance which irritates lachrymal glands? 
अ蟱왠 ु⸵湙䊯�थय䰯㉎ म᳿ जलन पदैा करन ेवाल े웁⤏दाथ䌀 का ℀ထया नाम ह?ै
Options:
a) Tear Gas 
⼳टयर गसै
b) Laughing Gas 
लाᵚ윀फंग गसै
c) Anaesthetic Gas 
एन喢ेꄰथ⼳टक गसै
d) Noble Gas 
नोबल गसै
Correct Answer: Tear Gas 
⼳टयर गसै

Candidate Answer: Anaesthetic Gas 
एन喢ेꄰथ⼳टक गसै
 
Question 60. Which of the following procedure treats spinal stenosis (stricture)? 
⼹ይन떉藀न म᳿ स ेकौन सी 웁⤏ᵚ윀ᔄ″या 喢ꄰपाइनल 喢ꄰटनेो얌ظसस (喢ꄰሠᝠꃾꈄकचर) का उपचार करती ह?ै
Options:
a) Laminoplasty 
ला얌ظमनोꄁ朁ला喢ꄰटꃾꈄ
b) Corpectomy 



कोपဤ瀆℀ထटोमी
c) Coccygectomy 
कोक걣ꍖग℀ेထटोमी
d) Foraminotomy 
फोरा얌ظमनोटोमी
Correct Answer: Laminoplasty 
ला얌ظमनोꄁ朁ला喢ꄰटꃾꈄ
Candidate Answer: Laminoplasty 
ला얌ظमनोꄁ朁ला喢ꄰटꃾꈄ
 
Question 61. From which of the following country Indian Constitution borrowed the feature 'The written Constitution'? 
⼹ይन떉藀न म᳿ स ेᵚ윀कस दशे स ेभारतीय स䪜鍐वधान न े"얌ظलᮿखत स䪜鍐वधान" के 肐တप को 웁⤏ाꄁ朁त ᵚ윀कया ह?ै
Options:
a) USSR 
यएूसएसआर
b) UK 
यकूे
c) U.S. 
यएूस
d) Japan 
जापान
Correct Answer: U.S. 
यएूस
Candidate Answer: UK 
यकूे
 
Question 62. Which of the following institution deals with credit to agriculture and rural development?
⼹ይन떉藀न म᳿ स ेकौन सा स喢ꄰथान कृ䪜鍐ष और ⸵湙ामीण 䪜鍐वकास के ऋण के साथ स떉藀ब䊯ं�धत ह?ै
Options:
a) RBI
आरबीआई
b) SIDBI
एसआईडीबीआई
c) NABARD
नाबाड䌀
d) MFI
एमएफआई
Correct Answer: NABARD
नाबाड䌀
Candidate Answer: NABARD
नाबाड䌀
 
Question 63. Which of the following article of Indian Constitution includes the procedure for the impeachment of the President? 
भारतीय स䪜鍐वधान के ᵚ윀कस अनᘖु᜖छदे म᳿ रा⨂ᑀሠᝠप⼹ይत के महा얌ظभयोग के 얌ظलए 웁⤏ᵚ윀ᔄ″या को शा얌ظमल ᵚ윀कया गया ह?ै
Options:
a) Article 59 
अनᘖु᜖छदे 59
b) Article 71 
अनᘖु᜖छदे 71
c) Article 140 
अनᘖु᜖छदे140
d) Article 61 
अनᘖु᜖छदे61
Correct Answer: Article 61 
अनᘖु᜖छदे61

Candidate Answer: Article 61 
अनᘖु᜖छदे61
 
Question 64. Which of the following command is called as three­finger salute in computers? 
⼹ይन떉藀न म᳿ स ेकौन सी कमाडं को कंꄁ朁यटूर म᳿ 綘젘ी­ᵚ윀फंगर सलटू के 肐တप म᳿ जाना जाता ह?ै
Options:
a) Ctrl + Alt + Delete
b) Ctrl + Shift + Escape
c) Ctrl + Shift + Enter



d) Ctrl + Alt + Arrow key
Correct Answer: Ctrl + Alt + Delete
Candidate Answer: Ctrl + Alt + Delete
 
Question 65. Most of the ozone in the earth's atmosphere is found in the:
प⵼䉁वी के वायमुडंल म᳿ अ䊯�धकाशंत: ओजोन कहा ँपाया जाता ह:ै
Options:
a) Troposphere
㼳ⴠोभमडंल
b) Stratosphere
समतापम㤮㑰डल
c) Mesosphere
म拾韾यम㤮㑰डल
d) Thermosphere
थम⌦☧喢ꄰफ걣ꍖयर
Correct Answer: Stratosphere
समतापम㤮㑰डल
Candidate Answer: Thermosphere
थम⌦☧喢ꄰफ걣ꍖयर
 
Question 66. Who among the following won the Nobel Peace Prize in 2014? 
⼹ይन떉藀न म᳿ स ेᵚ윀कसन े2014 म᳿ नोबले शाि搁ꌁत परु喢ꄰकार जीता?
Options:
a) Kailash Satyarthi 
कैलाश स稰⼶याथ㼀
b) Venkatraman Ramakrishnan 
व᳿कटरमण रामकृ⨂ᑀणन
c) Amartya Sen 
अम稰⼶य䌀सने
d) V. S. Naipaul 
वी.एस नपैौल
Correct Answer: Kailash Satyarthi 
कैलाश स稰⼶याथ㼀
Candidate Answer: Kailash Satyarthi 
कैलाश स稰⼶याथ㼀
 
Question 67. Which of the following curve describes the variation of household expenditure on a particular good with respect to household income? 
⼹ይन떉藀न म᳿ स ेकौन सा वᔄ″ घरले ूआय के सबंधं म᳿ ᵚ윀कसी 䪜鍐वशषे व喢ꄰत ुपर घरले ूखच䌀 क걣ꍖ 얌ظभ搁ꌁनता का वण䌀न करता ह?ै
Options:
a) Demand curve 
मागं वᔄ″
b) Engel curve 
एगंल वᔄ″
c) Great Gatsby curve 
⸵湙टे गသمحمدसबाय वᔄ″
d) Cost curve 
लागत वᔄ″
Correct Answer: Engel curve 
एगंल वᔄ″
Candidate Answer: Great Gatsby curve 
⸵湙टे गသمحمدसबाय वᔄ″
 
Question 68. The ratio of the number of boys and girls in a school is 8 : 12. If 50% of boys and 25% of girls are getting scholarships for their studies, what is the
percentage of school students who are not getting any scholarships?
ᵚ윀कसी 䪜鍐वㄹ㤒यालय म᳿ लड़क䰯㉎ और लड़ᵚ윀कय䰯㉎ क걣ꍖ स㐁 या का अनपुात 8:12 ह।ै य⼳द 50 웁⤏⼹ይतशत लड़क䰯㉎ और 25 웁⤏⼹ይतशत लड़ᵚ윀कय䰯㉎ को अ拾韾ययन के 얌ظलए छा᜘〞विृ稰⼶त 얌ظमल रहꃾꈄ ह ैतो छा᜘〞विृ稰⼶त न पान ेवाले
छा᜘〞䰯㉎ का 웁⤏⼹ይतशत ᵚ윀कतना ह?ै

Options:
a) 65
b) 66
c) 67
d) 68
Correct Answer: 65
Candidate Answer: 65
 



Question 69. A person observes that the angle of elevation at the top of a pole of height 5 meter is 30°. Then the distance of the person from the pole is:
एक 쀈぀यि℀ထत पाता ह ैᵚ윀क 5 मीटर ऊंचाई वाल ेएक ख떉藀ब ेके शीष䌀 पर उ搁ꌁनयन कोण 30° ह ै| इस ख떉藀ब ेस े쀈぀यि℀ထत क걣ꍖ दरूꃾꈄ ᵚ윀कतनी ह|ै
Options:
a) 5√3 meter
5√3 मीटर
b) 5/√3 meter
5/√3 मीटर
c) √3 meter
√3 मीटर
d) 10√3 meter
10√3 मीटर
Correct Answer: 5√3 meter
5√3 मीटर
Candidate Answer: 5/√3 meter
5/√3 मीटर
 
Question 70. A boat goes 75 km upstream in 3 hours and 60 km downstream in 1.5 hours. Then the speed of the boat in still water is:
एक नाव पानी म᳿ धारा के 䪜鍐वप⼳�रत ⼳दशा म᳿ 3 घटं ेम᳿ 75 ᵚ윀कमी और धारा के अनकुूल 1.5 घटं ेम᳿ 60 ᵚ윀कमी जाती ह।ै शातं जल म᳿ नाव क걣ꍖ चाल ℀ထया होगी?
Options:
a) 32.5 kmph
32.5 ᵚ윀कमी. 웁⤏⼹ይतघटंा
b) 30 kmph
30 ᵚ윀कमी. 웁⤏⼹ይतघटंा
c) 65 kmph
65 ᵚ윀कमी. 웁⤏⼹ይतघटंा
d) 60 kmph
60 ᵚ윀कमी. 웁⤏⼹ይतघटंा
Correct Answer: 32.5 kmph
32.5 ᵚ윀कमी. 웁⤏⼹ይतघटंा
Candidate Answer: 32.5 kmph
32.5 ᵚ윀कमी. 웁⤏⼹ይतघटंा
 
Question 71. What decimal of a week is an hour?
एक सꄁ朁ताह म᳿ एक घटं ेका दशमलव म᳿ मान ᵚ윀कतना ह?ै
Options:
a) .0059
b) .0062
c) .062
d) .059
Correct Answer: .0059
Candidate Answer: .062
 
Question 72. 12 men can complete a work in 90 days. 30 days after they started work, 2 men left and 8 men joined. How many days will it take to complete the
remaining work?
12 आदमी ᵚ윀कसी काय䌀 को 90 ⼳दन䰯㉎ म᳿ कर सकत ेह︰Ĕ। काय䌀 웁⤏ारभं होन ेके 30 ⼳दन䰯㉎ के बाद 2 आद얌ظमय䰯㉎ न ेकाय䌀 छोड़ ⼳दया और 8 आदमी शा얌ظमल हो गए। शषे काय䌀 को परूा करन ेम᳿ ᵚ윀कतन े⼳दन लग᳿ग?े
Options:
a) 90 days
90 ⼳दन
b) 60 days
60 ⼳दन
c) 40 days
40 ⼳दन
d) 50 days
50 ⼳दन
Correct Answer: 40 days
40 ⼳दन
Candidate Answer: 40 days
40 ⼳दन
 

Question 73. If sin θ + cosec θ = 2, then the value sin100θ + cosec100θ is:
य⼳द sin θ + cosec θ = 2 ह ैतो sin100θ + cosec100θ का मान ᵚ윀कतना ह?ै
Options:
a) 1
b) 2
c) 3
d) 4



Correct Answer: 2
Candidate Answer: 2
 
Question 74. Astha cuts a triangle out of a cardboard and tries to balance the triangle horizontally at the tip of her finger. On what point will she be able to balance
the shape for any kind of triangle?
आ喢ꄰथा न ेकाड䌀बोड䌀 स े㽝⬫᜘〞भजु काटा और उसन ेअपनी अगंलुꃾꈄ पर 㼳ⴠ⼹ይतज 肐တप स े㽝⬫᜘〞भजु को सतं얌ुظलत करन ेका 웁⤏यास ᵚ윀कया। वह ᵚ윀कस 㽝⬫बदं ुपर ᵚ윀कसी भी 웁⤏कार के 㽝⬫᜘〞भजु का सतंलुन बना पाएगी?
Options:
a) Incentre
अतंः के搁ꌁ␮⶚
b) Circumcentre
प⼳�रके搁ꌁ␮⶚
c) Centroid
के搁ꌁ␮⶚क
d) Orthocentre
लबंके搁ꌁ␮⶚
Correct Answer: Centroid
के搁ꌁ␮⶚क
Candidate Answer: Orthocentre
लबंके搁ꌁ␮⶚
 
Question 75. A merchant marks an article 20% above cost price. He then sells it at a discount of 20%. The sale gives him:
एक 쀈぀यापारꃾꈄ ᵚ윀कसी सामान के म㈀Ȁय को ᔄ″य म㈀Ȁय स े20 웁⤏⼹ይतशत बढ़ाकर अᵚ윀कत करता ह।ै वह ᵚ윀फर उस े20 웁⤏⼹ይतशत छूट दकेर बचेता ह।ै 㽝⬫बᔄ″걣ꍖ स ेउस ेᵚ윀कतना लाभ/ हा⼹ይन होगी?
Options:
a) No loss or gain
कोई लाभ या हा⼹ይन नहꃾꈄं
b) 4% loss
4% हा⼹ይन
c) 2% gain
2% लाभ
d) 4% gain
4% लाभ
Correct Answer: 4% loss
4% हा⼹ይन
Candidate Answer: 4% loss
4% हा⼹ይन
 
Question 76. If 3 articles are sold for the cost of 5, then the profit percentage is:
य⼳द तीन व喢ꄰतओु ंको 5 व喢ꄰतओु ंके ᔄ″य म㈀Ȁय पर बचेा जाए तो लाभ 웁⤏⼹ይतशत ᵚ윀कतना होगा?
Options:
a) 50
b) 60
c) 66⅔
d) 65
Correct Answer: 66⅔
Candidate Answer: 66⅔
 
Question 77. A shopkeeper used to allow a discount of Rs. 20 on a product. He doubled the discount on the product and sold it for Rs. 80. What was the percentage
of discount offered?
एक दकुानदार एक व喢ꄰत ुपर Rs. 20 क걣ꍖ छूट दतेा ह।ै वह उ稰⼶पाद पर छूट को दोगनुा कर दतेा ह ैऔर उस ेRs. 80 म᳿ बचे दतेा ह।ै दकुानदार न ेकुल ᵚ윀कतन े웁⤏⼹ይतशत छूट क걣ꍖ पशेकश क걣ꍖ?
Options:
a) 20%
b) 25%
c) 30%
d) 33.33%
Correct Answer: 33.33%
Candidate Answer: 33.33%
 
Question 78. Following table gives details about the percentage change of the population in a particular town for given years. Go through the chart given and answer
the question that follows:
⼹ይन떉藀न얌ظलᮿखत ता얌ظलका ⼳दए गए वषﾸᘈ म᳿ ᵚ윀कसी नगर क걣ꍖ जनस㐁 या के 웁⤏⼹ይतशत प⼳�रवत䌀न को दशा䌀ती ह।ै ⼳दए गए चाट䌀 को पढ़᳿ और 웁⤏簀ⴀन के उ稰⼶तर द᳿।



Which year out of these 8 years has the highest population?
इन आठ वषﾸᘈ म᳿ स ेᵚ윀कस वष䌀 सबस ेअ䊯�धक जनस㐁 या रहꃾꈄ ह|ै
Options:
a) 2008
b) 2005
c) 2010
d) 2011
Correct Answer: 2011
Candidate Answer: 2008
 
Question 79. On a certain sum of money, the simple interest for 2 years is Rs. 350 at the rate of 4% per annum. If it was invested at compound interest at the same
rate for the same duration as before, how much more interest would be earned?
ᵚ윀कसी रा얌ظश पर दो वषﾸᘈ के 얌ظलए 4 웁⤏⼹ይतशत वा䪜鍐ष䌀क 㴼뮅याज दर स ेसाधारण 㴼뮅याज Rs. 350 ह।ै य⼳द इस रा얌ظश को इसी अव䊯�ध के 얌ظलए इसी दर पर चᔄ″व䪜鍐أ⊢ 㴼뮅याज दर पर ⼹ይनवशे ᵚ윀कया जाए जो ᵚ윀कतना
अ䊯�धक 㴼뮅याज 웁⤏ाꄁ朁त होगा?
Options:
a) Rs. 3.50
b) Rs. 7
c) Rs. 14
d) Rs. 35
Correct Answer: Rs. 7
Candidate Answer: Rs. 35
 
Question 80. The perpendicular from the centre of a circle to a chord is 16 cm. If the diameter of the circle is 40 cm, what is the length of the chord?
एक व稰⼶त के क᳿␮⶚ स ेजीवा के 얌ظलए ल떉藀ब 16 समेी ह ै,य⼳द व稰⼶त का 쀈぀यास 40 समेी ह ै, तो जीवा क걣ꍖ ल떉藀बाई ᵚ윀कतनी ह ै?
Options:
a) 12 cm
12 समेी
b) 16 cm
16 समेी
c) 24 cm
24 समेी
d) 30 cm
30 समेी
Correct Answer: 24 cm
24 समेी
Candidate Answer: 12 cm
12 समेी
 
Question 81. What is the smallest 6­digit number that is completely divisible by 108?
छह अकं䰯㉎ क걣ꍖ सबस ेछोटꃾꈄ स㐁 या ℀ထया ह ैजो 108 स े䪜鍐वभा㘶य ह?ै
Options:
a) 100003
b) 100004
c) 100006
d) 100008
Correct Answer: 100008
Candidate Answer: 100008

 
Question 82. The average age of a family with 5 members is 28. If one of the members of age 20 is excluded the average age of the family becomes­
पाचं सद喢ꄰय䰯㉎ वाल ेप⼳�रवार म᳿ सद喢ꄰय䰯㉎ क걣ꍖ औसत आय ु28 वष䌀 ह ै। य⼳द 20 वष䌀 के एक सद喢ꄰय को ⼹ይनकाल ⼳दया जाए तो प⼳�रवार क걣ꍖ औसत आय ुᵚ윀कतनी होगी?
Options:
a) 25
b) 20
c) 30
d) 24



Correct Answer: 30
Candidate Answer: 30
 
Question 83. A sum of Rs. 2420/­ is accumulated in 2 years at 10% compound interest on a certain amount. Then the original amount is:
ᵚ윀कसी रा얌ظश क걣ꍖ 10 웁⤏⼹ይतशत चᔄ″व䪜鍐أ⊢ 㴼뮅याज­दर पर दो वषﾸᘈ म᳿ स䊯�चत रा얌ظश Rs. 2420 ह ैतो मलूधन ᵚ윀कतना ह?ै
Options:
a) Rs. 1000
b) Rs. 2000
c) Rs. 1500
d) Rs. 2500
Correct Answer: Rs. 2000
Candidate Answer: Rs. 2000
 

Question 84. Which of the following numbers is not a factor of 5p7q (p≠0, q≠0)
इनम᳿ स ेकौन सी स㐁 या 5p7q (p≠0, q≠0) का गणुाकं नहꃾꈄ ंह?ै
Options:
a) 35
b) 175
c) 1225
d) 735
Correct Answer: 735
Candidate Answer: 1225
 
Question 85. The C.P of 10 articles is equal to the S.P of 15 articles. What is the profit or loss percentage?
10 व喢ꄰतओु ंका ᔄ″य म㈀Ȁय 15 व喢ꄰतओु ंके 䪜鍐वᔄ″य म㈀Ȁय के बराबर ह।ै लाभ या हा⼹ይन का 웁⤏⼹ይतशत ᵚ윀कतना ह?ै
Options:
a) 25.5%
b) 35%
c) 10%
d) 33.3%
Correct Answer: 33.3%
Candidate Answer: 33.3%
 
Question 86. Christy donated 10% of his income to an orphanage and deposited 20% of the remainder in his bank. If he has now Rs 7200 left, what is his income.
ᵚ윀ᔄ″喢ꄰटꃾꈄ न ेअपनी आय का 10 웁⤏⼹ይतशत अनाथालय को दान द े⼳दया और शषे का 20 웁⤏⼹ይतशत अपन ेब︰Ĕक म᳿ जमा कर ⼳दया । अगर अब उसके पास 7200 肐တपए बच ेह︰Ĕ तो उसक걣ꍖ आय ᵚ윀कतनी ह?ै
Options:
a) 10000
b) 8000
c) 9000
d) 8500
Correct Answer: 10000
Candidate Answer: 10000
 
Question 87. 

Options:
a) 27
b) 24
c) 19
d) 25
Correct Answer: 19
Candidate Answer: 19
 
Question 88. If 4 years ago the ratio between the ages of P and Q was 5 : 6 and the sum of their ages at present is 52, what is the ratio of their present ages?
य⼳द चार वष䌀 पहल ेP और Q के बीच आय ुका अनपुात 5:6 था और वत䌀मान म᳿ दोन䰯㉎ क걣ꍖ आय ुका योग 52 ह ैतो उनक걣ꍖ वत䌀मान आय ुका अनपुात ℀ထया ह?ै
Options:
a) 5:6
b) 6:7
c) 7:8
d) 4:5

Correct Answer: 6:7
Candidate Answer: 6:7
 
Question 89. The ratio of the radii of two cylinders is 2:3, and the ratio of their heights is 5:3. The ratio of their volumes will be ­
दो बलेन䰯㉎ क걣ꍖ 㽝⬫᜘〞㘶याओ ंका अनपुात 2:3 ह ैऔर उनक걣ꍖ ऊंचाई का अनपुात 5:3 ह ै। इनके आयतन䰯㉎ का अनपुात होगा?



Options:
a) 9:4
b) 20:27
c) 4:9
d) 27:20
Correct Answer: 20:27
Candidate Answer: 20:27
 

Question 90. What will be the remainder when 252126+ 244152 is divided by 10?

जब 252126+ 244152 को 10 स ेभाग ᵚ윀कया जाएगा ,तो शषेफल ℀ထया होगा ?
Options:
a) 4
b) 6
c) 0
d) 8
Correct Answer: 0
Candidate Answer: 0
 
Question 91. Following table gives details about the percentage change of the population in a particular town for given years. Go through the chart given and answer
the question that follows:
⼹ይन떉藀न얌ظलᮿखत ता얌ظलका ⼳दए गए वषﾸᘈ म᳿ ᵚ윀कसी नगर क걣ꍖ जनस㐁 या के 웁⤏⼹ይतशत प⼳�रवत䌀न को दशा䌀ती ह।ै ⼳दए गए चाट䌀 को पढ़᳿ और 웁⤏簀ⴀन का उ稰⼶तर द᳿।

What was the population of the town in year 2009?
2009 म᳿ नगर क걣ꍖ जनस㐁 या ᵚ윀कतनी थी?
Options:
a) 3
b) 5
c) 4
d) Can't be determined
⼹ይनधा䌀⼳�रत नहꃾꈄ ंᵚ윀कया जा सकता ह।ै
Correct Answer: Can't be determined
⼹ይनधा䌀⼳�रत नहꃾꈄ ंᵚ윀कया जा सकता ह।ै
Candidate Answer: Can't be determined
⼹ይनधा䌀⼳�रत नहꃾꈄ ंᵚ윀कया जा सकता ह।ै
 
Question 92. Two posts are 2 metres apart. Both posts are on same side of a tree. If the angles of depressions of these posts when observed from the top of the tree
are 45° and 60° respectively, then the height of the tree is:
दो खभं ेदो मीटर क걣ꍖ दरूꃾꈄ पर ह︰Ĕ| दोन䰯㉎ खभं ेपड़े के एक हꃾꈄ ओर ह︰Ĕ| य⼳द पड़े क걣ꍖ ऊंचाई स ेदखेा जाए तो इन खभं䰯㉎ का अवनमन कोण ᔄ″मशः 45° और 60° ह ैतो पड़े क걣ꍖ ऊंचाई ᵚ윀कतनी ह?ै
Options:
a) 3­√3
b) 3+√3
c) ­3+√3
d) 3­√2
Correct Answer: 3+√3

Candidate Answer: 3+√3
 
Question 93. The diameter of a cycle wheel is 140 cm. The cyclist takes 30 hours to reach his destination at the speed of 22 kmph. How many revolutions will the
cycle wheel make during his journey (assume π ≈ 22/7).
एक साइᵚ윀कल के प⼳हए का 㴼뮅यास 140 समेी ह।ै साइᵚ윀कल चालक को अपन ेगतं쀈぀य तक 22 ᵚ윀कमी 웁⤏⼹ይत घटं ेक걣ꍖ ग⼹ይत स ेपहुंचन ेम᳿ 30 घटं ेलगत ेह︰Ĕ। साइᵚ윀कल के प⼳हए को उसक걣ꍖ या᜘〞ा के दौरान ᵚ윀कतने
च℀ထकर लगान ेह䰯㉎ग᳿ (मान लꃾꈄिजए π ≈ 22/7)
Options:
a) 1 lakh
1 लाख
b) 2 lakh



2 लाख
c) 3 lakh
3 लाख
d) 1½ lakh
1½ लाख
Correct Answer: 1½ lakh
1½ लाख
Candidate Answer: 1½ lakh
1½ लाख
 
Question 94. Following table gives details about the percentage change of the population in a particular town for given years. Go through the chart given and answer
the question that follows:
⼹ይन떉藀न얌ظलᮿखत ता얌ظलका ⼳दए गए वषﾸᘈ म᳿ ᵚ윀कसी नगर क걣ꍖ जनस㐁 या के 웁⤏⼹ይतशत प⼳�रवत䌀न को दशा䌀ती ह।ै ⼳दए गए चाट䌀 को पढ़᳿ और 웁⤏簀ⴀन का उ稰⼶तर द᳿।

What was the percentage increase in population of the town from 2005 to 2008?
2005 स े2008 तक नगर क걣ꍖ जनस㐁 या व䪜鍐أ⊢ का 웁⤏⼹ይतशत ℀ထया था?
Options:
a) 19%
b) 33.33%
c) 22.6%
d) Can't be determined
⼹ይनधा䌀⼳�रत नहꃾꈄ ंᵚ윀कया जा सकता ह।ै
Correct Answer: 22.6%
Candidate Answer: Can't be determined
⼹ይनधा䌀⼳�रत नहꃾꈄ ंᵚ윀कया जा सकता ह।ै
 

Question 95. If mn = 169, what is the value of (m+1)(n­1)?
य⼳द mn = 169, तो (m+1)(n­1) का मान ह?ै
Options:
a) 14
b) 13
c) 196
d) 170
Correct Answer: 14
Candidate Answer: 14
 
Question 96. A can do a job in 10 days and B can do the same job in 15 days. They start working together, but B leaves after 5 days. How many more days A want to
finish the work?
A ᵚ윀कसी काय䌀 को 10 ⼳दन䰯㉎ और B उसी काय䌀 को 15 ⼳दन䰯㉎ म᳿ कर सकता ह︰Ĕ। उ搁ꌁह䰯㉎न ेसाथ काय䌀 करना श肐တ ᵚ윀कया ᵚ윀कंत ुB न े5 ⼳दन䰯㉎ के बाद काय䌀 करना छोड़ ⼳दया । अब A ᵚ윀कतन े⼳दन䰯㉎ म᳿ शषे काय䌀 को
परूा करगेा?

Options:
a) 2 days
2 ⼳दन
b) 1⅔ days
1⅔ ⼳दन
c) 3 days
3 ⼳दन
d) 2⅔ days
2⅔ ⼳दन
Correct Answer: 1⅔ days
1⅔ ⼳दन
Candidate Answer: 1⅔ days



1⅔ ⼳दन
 
Question 97. A canister holds 36 litres of mixture of milk and water in the ratio 3:1. 15 litres of milk is added to the canister. The new ratio of the mixture is:
एक कन喢ꄰटर म᳿ 3:1 के अनपुात म᳿ 36 लꃾꈄटर दधू और पानी का 얌ظम蟱왠ण ह।ै कन喢ꄰतर म᳿ 15 लꃾꈄटर दधू और 얌ظमला ⼳दया जाता ह।ै 얌ظम蟱왠ण का नया अनपुात ℀ထया होगा?
Options:
a) 12:5
b) 14:3
c) 7:4
d) 9:4
Correct Answer: 14:3
Candidate Answer: 14:3
 
Question 98. 

Options:
a) 0
b) 1
c) 2
d) Not defined
प⼳�रभा䪜鍐षत नहꃾꈄ ंᵚ윀कया जा सकता ह।ै
Correct Answer: 1
Candidate Answer: 1
 

Question 99. A spherical aquarium can accommodate 11 fishes, and each fish requires 1.54 m3 of water. What is the volume of the aquarium?

एक गोलाकार अ℀ထव⼳े�रयम म᳿ 11 मछ얌ظलया ँरह सकती ह ैऔर 웁⤏稰⼶यके मछलꃾꈄ के 얌ظलए 1.54 मी3 पानी आव簀ⴀयक ह ैतो अ℀ထव⼳े�रयम का आयतन ℀ထया होगा?
Options:
a) 11.14 m3

b) 16.94 m3

c) 10.25 m3

d) 17.84 m3

Correct Answer: 16.94 m3

Candidate Answer: 16.94 m3

 

Question 100. The average of 25 results is 20. The average of first 12 results is 15 and that of the last 12 results is 18. Then the 13th result is:

25 प⼳�रणाम䰯㉎ का औसत 20 ह।ै पहल े12 प⼳�रणाम䰯㉎ का औसत 15 ह ैऔर अ⼹ይतम 12 प⼳�रणाम䰯㉎ का औसत 18 ह ैतो 13 व᳿ प⼳�रणाम का मान ᵚ윀कतना ह?ै
Options:
a) 100
b) 101
c) 104
d) 103
Correct Answer: 104
Candidate Answer: 104
 
Question 101. Following table gives details about the percentage change of the population in a particular town for given years. Go through the chart given and answer
the question that follows:
⼹ይन떉藀न얌ظलᮿखत ता얌ظलका ⼳दए गए वषﾸᘈ म᳿ ᵚ윀कसी नगर क걣ꍖ जनस㐁 या के 웁⤏⼹ይतशत प⼳�रवत䌀न को दशा䌀ती ह।ै ⼳दए गए चाट䌀 को पढ़᳿ और 웁⤏簀ⴀन का उ稰⼶तर द᳿।



How many years witnessed a decrease in population across all the given years?
⼳दए गए सपंणू䌀 वषﾸᘈ म᳿ स ेᵚ윀कतन ेवषﾸᘈ म᳿ जनस㐁 या म᳿ कमी आयी ह?ै
Options:
a) 1
b) 2
c) 3
d) 0
Correct Answer: 0
Candidate Answer: 2
 
Question 102. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Between the horns of a dilemma.
Options:
a) A difficult situation / choice
b) A challenging situation
c) An unknown problem
d) A combative situation
Correct Answer: A difficult situation / choice
Candidate Answer: An unknown problem
 
Question 103. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Red tape
Options:
a) Official procedures causing delay
b) Label red for something dangerous
c) To be cleared very fast
d) A procedure for close scrutiny
Correct Answer: Official procedures causing delay
Candidate Answer: Official procedures causing delay
 
Question 104. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Nap
Options:
a) Nape
b) Sneeze
c) Siesta
d) Snore
Correct Answer: Siesta

Candidate Answer: Snore
 
Question 105. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

Sudden involuntary muscular contraction.
Options:
a) Sprain
b) Spasm
c) Spam
d) Span
Correct Answer: Spasm
Candidate Answer: Spam
 
Question 106. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Spruce
Options:
a) Fat
b) Natty
c) Clear
d) Happy
Correct Answer: Natty
Candidate Answer: Clear
 
Question 107. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Outrageous
Options:
a) Loud
b) Noisy



c) Naughty
d) Shocking
Correct Answer: Shocking
Candidate Answer: Noisy
 
Question 108. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

I'd like a bike in commuting to work.
Options:
a) I'd like
b) a bike
c) in commuting to work
d) No error
Correct Answer: in commuting to work
Candidate Answer: in commuting to work
 
Question 109. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

I appreciate my neighbour's _______as she explained the reason for selling her house.
Options:
a) Candid
b) Candour
c) Care
d) Capacity
Correct Answer: Candour
Candidate Answer: Candour
 
Question 110. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

My uncle and mentor are helping me.
Options:
a) Mentor is
b) Mentors have
c) Mentors were
d) No improvement
Correct Answer: Mentor is
Candidate Answer: Mentor is
 
Question 111. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

Many a pilgrim were hurt during the festival.

Options:
a) Have been
b) Was
c) Have
d) Has been
Correct Answer: Was
Candidate Answer: Have been
 
Question 112. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Square peg in a round hole
Options:
a) Understanding
b) Misfit
c) Competent
d) Most fit
Correct Answer: Misfit
Candidate Answer: Misfit
 
Question 113. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

.................... minds see new angles to everyday things.
Options:
a) Dull
b) Creative
c) Difficult
d) Realistic
Correct Answer: Creative



Candidate Answer: Creative
 
Question 114. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

I prefer apples more then oranges.
Options:
a) I prefer
b) apples more then
c) oranges
d) No error
Correct Answer: apples more then
Candidate Answer: apples more then
 
Question 115. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

My husband was work, so I went shopping.
Options:
a) My husband
b) was work
c) I went shopping
d) No error
Correct Answer: was work
Candidate Answer: was work
 
Question 116. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

To eat one's own words.
Options:
a) To offer bribe with sweet words
b) To listen carefully
c) To remain silent
d) Forced to retract one's own statement
Correct Answer: Forced to retract one's own statement
Candidate Answer: Forced to retract one's own statement
 
Question 117. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Lethargic

Options:
a) Inactive
b) Elated
c) Thrilled
d) Jounce
Correct Answer: Inactive
Candidate Answer: Inactive
 
Question 118. Choose the word opposite in meaning to the given word.

Visionary
Options:
a) Farsighted
b) Regular
c) Pragmatist
d) Piety
Correct Answer: Pragmatist
Candidate Answer: Pragmatist
 
Question 119. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Laconic
Options:
a) Lengthy
b) Concise
c) Substantial
d) Comatose
Correct Answer: Concise
Candidate Answer: Concise
 
Question 120. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.



Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

I am taking a book with me so that I'll have something to read on the train.
Options:
a) I am taking a book
b) I'll have something
c) On the train.
d) No improvement
Correct Answer: No improvement
Candidate Answer: No improvement
 
Question 121. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

You can't avoid notifying the building while travelling.
Options:
a) Avoid to look
b) Avoid to noticing
c) Avoid noticing
d) No Improvement
Correct Answer: Avoid noticing
Candidate Answer: Avoid noticing
 
Question 122. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

Twenty kilometres are a good distance far.
Options:
a) Were
b) Are
c) Is
d) No improvement
Correct Answer: Is
Candidate Answer: Is
 
Question 123. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

An indirect reference
Options:
a) Innuendo
b) Remarks
c) Suggestion
d) Aside

Correct Answer: Innuendo
Candidate Answer: Innuendo
 
Question 124. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The moon are full and the stars are out.
Options:
a) The moon are full
b) and the stars
c) are out
d) No error.
Correct Answer: The moon are full
Candidate Answer: The moon are full
 
Question 125. Choose the word opposite in meaning to the given word.

Querulous
Options:
a) Strange
b) Uncomplaining
c) Answerable
d) Stranger
Correct Answer: Uncomplaining
Candidate Answer: Stranger
 
Question 126. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.



The burglar was___________ when he broke into the house and found himself surrounded by police officers.
Options:
a) Flabbergasted
b) Unimpressed
c) Bored
d) Unruffled
Correct Answer: Flabbergasted
Candidate Answer: Flabbergasted
 
Question 127. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A group of islands
Options:
a) Islet
b) Archipelago
c) Reef
d) Atoll
Correct Answer: Archipelago
Candidate Answer: Reef
 
Question 128. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Psychophant
b) Psychophent
c) Sycophant
d) Sycophunt
Correct Answer: Sycophant
Candidate Answer: Sycophant
 
Question 129. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Supercilious
b) Supracillius
c) Supercillius
d) Superecilious
Correct Answer: Supercilious
Candidate Answer: Supercilious
 
Question 130. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Steal someone's thunder

Options:
a) Take credit for something someone else did
b) Poor cry
c) A useless attempt
d) Everything
Correct Answer: Take credit for something someone else did
Candidate Answer: Take credit for something someone else did
 
Question 131. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The fire in the apartment building effected over 20 families.
Options:
a) The fire in
b) the apartment building
c) effected over 20 families.
d) No error
Correct Answer: effected over 20 families.
Candidate Answer: effected over 20 families.
 
Question 132. Choose the word opposite in meaning to the given word.

Overt
Options:
a) Inexplicable
b) Ambiguous
c) Concealed
d) Manifest
Correct Answer: Concealed



Candidate Answer: Inexplicable
 
Question 133. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

I was happy to receive my father's ________ books.
Options:
a) Dog face
b) Dogleg
c) Dogging
d) Dog­eared
Correct Answer: Dog­eared
Candidate Answer: Dog face
 
Question 134. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Quintessence
b) Quintecsence
c) Quentiscence
d) Quintissense
Correct Answer: Quintessence
Candidate Answer: Quintessence
 
Question 135. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Ligionaire
b) Legionnaire
c) Legionaair
d) Legeonnair
Correct Answer: Legionnaire
Candidate Answer: Legionnaire
 
Question 136. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

Enigmatic person
Options:
a) Unique
b) Unstable
c) Unstable
d) Unknowable
Correct Answer: Unknowable
Candidate Answer: Unknowable
 
Question 137. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Plebeain
b) Plebeian
c) Plibein
d) Plebien
Correct Answer: Plebeian
Candidate Answer: Plebeian
 
Question 138. What is the main reason for the shedding of ice?
Options:
a) Global warming
b) Rise in the water level
c) Melting of ice
d) Mystery
Correct Answer: Global warming
Candidate Answer: Global warming
 
Question 139. Which are the Islands affected in West Antarctica?
Options:
a) The Pine Island, Thwaites and Smite Glacier
b) The Pin Island, Twaites and Smite Glaciers
c) The Pine Island, Thwaits and Smith Glacers
d) The Pine Island, Thwaites and Smith Glaciers
Correct Answer: The Pine Island, Thwaites and Smith Glaciers
Candidate Answer: The Pine Island, Thwaites and Smith Glaciers
 
Question 140. What are the new revelations made?



Options:
a) It may take centuries
b) The ice will melt in West Antarctica
c) It is very slow
d) The collapse is unstoppable
Correct Answer: The collapse is unstoppable
Candidate Answer: It may take centuries
 
Question 141. How many tons of ice is shed every year by the Antarctica?
Options:
a) 180 m
b) 160 m
c) 87 m
d) 4 m to 8 m
Correct Answer: 160 m
Candidate Answer: 87 m
 
Question 142. Which is Smith's greatest work?
Options:
a) "The Wealth of Nations"
b) "The Theory of Moral Sentiments"
c) "La Physiocratic"
d) "Great Expectations"
Correct Answer: "The Wealth of Nations"
Candidate Answer: "The Wealth of Nations"
 
Question 143. Which of the followings is correct about man's capacity for "sympathy"?
Options:
a) His ability to feel what another man feels
b) His ability to sense what other man feel about him
c) His ability to feel what another man feels and His ability to sense what other man feel about him
d) None of these
Correct Answer: His ability to feel what another man feels and His ability to sense what other man feel about him
Candidate Answer: His ability to feel what another man feels and His ability to sense what other man feel about him
 
Question 144. Who was Adam Smith's early patron?
Options:
a) Mr Phillipson
b) Henry Home
c) David Hume
d) Baron de Montesquieu

Correct Answer: Henry Home
Candidate Answer: Henry Home
 

 


